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llenu YyNoKa:

- Pa3o0parTh noHATVE NOTAapUIMa uMcna v ero
npocTeHilve CBOUCTBA.



Onpeaenexnue norapuihma

Jloraputhmom uncna » No OCHOBAHMIO
Ha3bIBACGTCA NMORA3ATENb CTEMNECHMN,

B KOTOPYIO HY:KHO BO3BECTH 1, UTO0DI
NONMYYATD b.

log b=c, a° =b,
a>0, a#l, b>0



b >0
a>0, ar1
b=a"

c=log b

Onpeaenexnue norapuihma

Npumenbl:
log,16=4,

log,2=1/2,
log | 27 =-3

3

|0!In’254=



InMmenbl
log, 8= 3, m.x
log. 25 =2, m.x

log, 2= 1, m.x

log, 5 = —1, m.K.

1
log, —= -2, m.k
9



JanuiuuTe B Buae
norapuihMuuecKroro NaBeHCTBA:

3*=81 = log,81=4 moonpencnenmio)

1 |
2 . — : l = _5 .
32 082735 [no onpeaeneHuio);
1Y 1 1
(_) =— = log, =3
4 64 ;64

3\/125 =5 = lOg1255=%

3
4/163 =8 — 10g168=z



OcoObie norapuiima

NecaTUuHbIe Norapuimbl
(no ocHoBanuio 10)

HatypanbHbie norapuipmbl
(N0 0CHOBAHMIO ) lo g e a

lg a

Ina



Npumen
Ig100= 2, 10> =100

Ig10= 1, 10'=10
Ig1 = 0, 10° =1
Ig0,l= —1, 107'=0,1

1g 0,00001= _5 107 =0,00001






Hauaute uMcno x

]()g5 x =2 10g3 x =—]
x =25 . 1

X = —

log, x=-2 log s x=0

6x=36 X =



Hauaute uMcno x

log 31=4
X =3

3* =81
log, x=-2

6x=36

log —=2
gx16
)
i "
1
log —=-2
gx4
2= 1



Bhluucnure

log, 0,25 = log2%= -2

1
logl 3\/5 = log1(3-32}=
3 3

1+l 3 ] ;
=log, 3 * = log132=10g1 = 3

2
3 3 3



Bbluncnure
1

S+log; =3+ (-1)=2
4
2log. 0,04 = 2log. 0=

—210g5 = 2- (— )__4



CBovCTBa norapuima

1
a °8a b =D , .50, ax1, b>0
log 1=()
log a =]

m

log a =m




